
 
 
 
 
 
           Winch Mount Installation Instructions 
                         HONDA TRX300 93-00 
                              PART# 4505-0664                           (Roller Fairlead does not come with mount.) 
 

1. Attach winch to winch mount plate using the hardware provided. Make sure the winch cable is spooling off the 
bottom of the drum. 

 

2. The front bumper may have to be removed in order to get the winch and mount up into place. Alternatively, you 
can try to slide it up in place through the inside of the front fender well. 

 

3. Remove the two 8mm bolts in the center of the bumper mounting location. 
 

4. Place winch mount with winch in place as illustrated.  Align the two downward tabs on the winch mount with 
the location you removed the two 8mm bolts from on the center bumper mount location. Use the two 8mm x 
25mm bolts provided in the kit. 

 

5. Next, attach the upper portion with the two U-bolts provided going up around frame tube and through the 
winch mount. Secure with 5/16” washers and 5/16” nylock nuts. Tighten all bolts. 

 

6. Attach roller fairlead to the front with hardware provided and wire accordingly to winch manufacturer’s 
instructions. 

 

7. When installing some winches, it may require removing the back plastic headlight cover for clearance on the 
winch motor. 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
    
 

FOR QUESTIONS OR COMMENTS PLEASE CALL: 320-964-1616 (7:00 to 4:30 CST Monday through Thursday). 
 

INST1588PF  

ITEM PART# QTY. DESCRIPTION
1 1588-1 1 Winch Mount Plate
2 HDW1052 2 8mm x 25mm Hex Bolt
3 HDW9403 2 5/16 x 1-1/8 X 2-3/16 Rd. U-Bolt
4 HDW9002 4 5/16 Flat Washer
5 HDW7058 4 5/16 Nylock Nut


